University of Minnesota :: Unofficial Transcript University of Minnesota Unofficial Transcript Name : Massie, Marius Jerome Student ID: Birthdate : 05-26 Print Date : 03-22-2011 MOST RECENT PROGRAMS : University of Minnesota, Twin Cities Campus Program : College of Liberal Arts Plan : Indiv Designed Intrdept B A Major Degree Sought : Bachelor of Arts Student also has transcripts from the University of Minnesota at levels: Graduate - - - - University of Minnesota Degrees and Certificates Awarded . _ _ _ _ : Bachelor of Arts Degree Confer Date : 12-23-1999 Degree GPA : 2.974 : College of Liberal Arts Acad Program : Individually Designed Interdepartmental B A Plan Psychological, Sociological, and Rhetorical Structures in Society _ _ _ _ _ _ _ _ _ _ Beginning of Undergraduate Record - - - -Fall Quarter 1994 University of Minnesota, Twin Cities Institute of Technology Lower Division Major Undecided Attempted Earned Points 1001 American Cultures AMST 4.00 4.00 B 12.000 COMP 1011 Writing Practice I 5.00 5.00 D 5.000 MATH 1251 One-Var Calc I 4.00 4.00 C 8.000 MATH 1251X One-Var Calc I 1.00 1.00 C 2.000 FRESHMAN COMPOSITION SATISFIED BY COURSES. TERM GPA : 1.929 TERM TOTALS : 14.00 14.00 27.000

Winter Quarter 1995

			University of Institute of T Lower Division Undecided		Cities	
			Undecided	At	tempted	Earned
Point: 8.000 5.000	s BIOL	1101	Heredity,Hum S	oc	4.00	4.00 C
	HIST	1012	Intro:World Hi	story	5.00	5.00 D
13.000	МАТН МАТН 0	1252 1252X TERM GPA :			9.00	0.00 W 0.00 W 9.00
			Spring Quarter 1995 University of Minnesota, Twin Cities Institute of Technology Lower Division Major Undecided			
Point	~			At	tempted	Earned
10.00	ANTH	1102	Understndg Cul	tures	5.00	5.00 C
	EEB	1019	Our Changing P	lanet	4.00	4.00 C
8.000	PHIL	1002	Intro To Philo	sophy	5.00	5.00 C
28.00		TERM GPA :	2.000	TERM TOTALS :	14.00	14.00
20.000			Fall Quarter 1995 University of Minnesota, Twin Cities Institute of Technology Lower Division Major Undecided			
			ondeerded	At	tempted	Earned
Points 4.000 4.000 10.000	s AIR AIR	100 1104	Leadership Lab Intro:Air Forc		1.00	0.00 S 1.00 A
	AIR	1204	Wrtn Comm & Af	Heri	1.00	1.00 A
	PSY	1001	Intro To Psych	ology	5.00	5.00 C
18.000		TERM GPA :	2.571	TERM TOTALS :	7.00	7.00
			Winter Quarter 1996 University of Minnesota, Twin Cities Institute of Technology			

University of Minnesota, Twin Citie Institute of Technology Lower Division Major Undecided

Points				Attempte	d Earned
BIOL 10.000	1201	Evolution & Ec	cology	5.0	0 5.00 C
CSCL 12.000	1303	Knowl,Persuas,	Power	4.0	0 4.00 B
STAT	1001	Intro:Ideas Of	5 Stat	4.0	0 4.00 B
12.000	TERM GPA :	2.615	TERM TOTALS	: 13.	00 13.00
		S University of Institute of T Lower Division Undecided	「echnology		
Points	0.01.4			-	
COMP 12.000	3014	Writing In Soc	C SC1	4.0	0 4.00 в
STAT 12.000	3011	Statistical Ar	nalysi	4.0	0 4.00 B
TH 8.000	1101	Intro To Theat	cre	4.0	0 4.00 C
32.000	TERM GPA :	2.667	TERM TOTALS	: 12.	00 12.00
		University of Institute of T Lower Division Undecided	Technology	in Cities	
Points		Institute of I Lower Division Undecided	Minnesota, Tw Technology n Major	in Cities Attempte	d Earned
Points JOUR 16.000	1001	Institute of T Lower Division	Minnesota, Tw Technology n Major	in Cities Attempte	
JOUR	1001 1004	Institute of I Lower Division Undecided	Minnesota, Tw Technology n Major Comm	in Cities Attempte	d Earned 0 4.00 A
JOUR 16.000 PSY		Institute of I Lower Division Undecided Intro To Mass	Minnesota, Tw Technology n Major Comm chol	in Cities Attempte 4.0	d Earned 0 4.00 A 0 4.00 A
JOUR 16.000 PSY 16.000 SOC	1004	Institute of T Lower Division Undecided Intro To Mass Intro Lab Psyc Intro To Socio	Minnesota, Tw Technology n Major Comm chol	in Cities Attempte 4.0 4.0 4.0	d Earned 0 4.00 A 0 4.00 A 0 4.00 B
JOUR 16.000 PSY 16.000 SOC 12.000	1004 1001	Institute of T Lower Division Undecided Intro To Mass Intro Lab Psyc Intro To Socio 3.667	Minnesota, Tw Technology Major Comm chol blogy TERM TOTALS Winter Quarter Minnesota, Tw beral Arts	in Cities Attempte 4.0 4.0 2. 1997 in Cities	d Earned 0 4.00 A 0 4.00 A 0 4.00 B 00 12.00
JOUR 16.000 PSY 16.000 SOC 12.000 44.000 Points	1004 1001 TERM GPA :	Institute of T Lower Division Undecided Intro To Mass Intro Lab Psyc Intro To Socio 3.667 W University of College of Lik Psychology B A	Minnesota, Tw Technology Major Comm Chol Dlogy TERM TOTALS Winter Quarter Minnesota, Tw Deral Arts A Major	in Cities Attempte 4.0 4.0 2. 1997 in Cities Attempte	d Earned 0 4.00 A 0 4.00 A 0 4.00 B 00 12.00 d Earned
JOUR 16.000 PSY 16.000 SOC 12.000 44.000	1004 1001	Institute of T Lower Division Undecided Intro To Mass Intro Lab Psyc Intro To Socio 3.667 W University of College of Lib	Minnesota, Tw Technology Major Comm Chol Dlogy TERM TOTALS Vinter Quarter Minnesota, Tw Deral Arts A Major	in Cities Attempte 4.0 4.0 2. 1997 in Cities	d Earned 0 4.00 A 0 4.00 A 0 4.00 B 00 12.00 d Earned

SPCH 16.000	1313	Analy Of Oral Argum	2	4.00	4.00	A
	TERM GPA :	3.333 TERM TOTALS	: 1	12.00	12.00	
40.000						
		Spring Quarter University of Minnesota, Tw College of Liberal Arts Psychology B A Major		ies		
Points			Attemp	pted	Earned	
PSY 12.000	3201	Intro:Social Psych	2	4.00	4.00	В
PSY 12.000	3666	Human Sexuality	Z	4.00	4.00	В
SPCH 16.000	3201	Intro:Elect Media	2	4.00	4.00	A
40.000	TERM GPA :	3.333 TERM TOTALS	: 1	12.00	12.00	
		Fall Quarter University of Minnesota, Tw College of Liberal Arts Psychology B A Major		ies		
Points			Attemp	pted	Earned	
PSY 12.000	3604	Intro:Abnorm Psych	2	4.00	4.00	В
PSY	3990	Directed Research	4	4.00	4.00	A
16.000 PSY	3990	Directed Research	2	2.00	2.00	A
8.000 SPAN 20.000	1101	Beginning Spanish	Ē	5.00	5.00	A
SPCH 13.332	3211	Intro:Am Elec Media	4	4.00	4.00	B+
69.332	TERM GPA :	3.649 TERM TOTALS	: 1	19.00	19.00	
		Winter Quarter 1998 University of Minnesota, Twin Cities College of Liberal Arts Psychology B A Major				
Points		_ ~ _ ~	Attemp	pted	Earned	
SOC	3954	Race,Class,Gender	4	4.00	4.00	A-
14.668 SPAN	1102	Beginning Spanish	L L	5.00	5.00	A-
18.335 SPCH	3401	Intro:Comm Theory	2	4.00	4.00	A
16.000 CLA DEAN 49.003	'S LIST, WI TERM GPA :	NTER QUARTER, 1998. 3.769 TERM TOTALS	: 1	13.00	13.00	

		Spring Quarte University of Minnesota, T College of Liberal Arts				
5		Psychology B A Major	Attempted	Earned		
Points PSY	3101	Intro Personality	4.00	4.00 C		
8.000 PSY 16.000	3990	Directed Research	4.00	4.00 A		
SOC 13.332	5111	Deviant Behavior	4.00	4.00 B+		
13.332 SPAN 20.000	1103	Beginning Spanish	5.00	5.00 A		
57.332	TERM GPA :	3.372 TERM TOTALS	: 17.00	17.00		
		Fall Quarter 1998 University of Minnesota, Twin Cities College of Liberal Arts Psychology B A Major				
Points			Attempted	Earned		
CPSY 12.000	3309	Intro Cpsy Soc Sci	4.00	4.00 B		
SPAN 16.665	1104	Intermediate Span	5.00	5.00 B+		
SPCH 13.332	3402	Intro Interper Comm	4.00	4.00 B+		
41.997	TERM GPA :	3.231 TERM TOTALS	: 13.00	13.00		
		Winter Quarter 1999 University of Minnesota, Twin Cities College of Liberal Arts Indiv Designed Intrdept B A Major Attempted Earned				
Points SOC	3501	The Family	4.00	4.00 B		
12.000 SPAN	1105	Intermediate Span	5.00	5.00 B		
15.000 SPCH	1101	Intro:Public Spkg	4.00	4.00 A		
16.000 43.000	TERM GPA :	3.308 TERM TOTALS	: 13.00	13.00		
Points		Spring Quarte University of Minnesota, T College of Liberal Arts Indiv Designed Intrdept B	win Cities	Earned		

Points

Psychology Of Women 4.00 4.00 C PSY 5141 8.000 PSY 5960 Topics In Psycholog 1.00 1.00 A 4.000 SOC 5970 Directed Studies 3.00 3.00 C+ 6.999 SPAN 1106 Intermediate Span 5.00 5.00 A-18.335 APPLIED FOR CLA B.A. DEGREE 3-15-99. (SPRING 99) TERM GPA : 2.872 TERM TOTALS : 13.00 13.00 37.334

University of Minnesota Summary Information Undergraduate Career Totals Attempted Earned Points CUM GPA : 2.974 CUM TOTALS : 193.00 193.00 573.998 GPA UNITS : 193.000 CUM TOTALS : 193.00 University of Minnesota Unofficial Transcript : Massie, Marius Jerome Name Student ID: Birthdate : 05-26 Print Date : 03-22-2011

MOST RECENT PROGRAMS Campus : University of Minnesota, Twin Cities Program : Col of Educ/Human Development Plan : Youth Dev Leadership M Ed Major Degree Sought : Master of Education

Student also has transcripts from the University of Minnesota at levels: Undergraduate

- - - - Beginning of Graduate Record - - - - -Fall Semester 1999 University of Minnesota, Twin Cities Graduate School Educ Psychology M A Major Counseling and Personnel Attempted Earned Points EPSY 8501 Counseling Pre-Prac 3.00 3.00 B+ 9.999 8540 Topic STC Pedagogy 0.00 V RHET Course Topic(s): Theory and Prac:Basic Writing TERM TOTALS : 3.00 TERM GPA : 3.333 3.00 9.999

		Spring Semester 20 University of Minnesota, Twin Col of Educ/Human Development Youth Dev Leadership M Ed Majo At	Cities	Earned
Points WCF	E 5412	Experiential Lrning:Theory&Pra	3.00	3.00 B
9.000 WCF YOS 6.000		Using Res in WCFE Youth - Families	2.00	0.00 W 2.00 B
15.000	TERM GPA	3.000 TERM TOTALS :	5.00	5.00
		Summer Semester 20 University of Minnesota, Twin Col of Educ/Human Development Youth Dev Leadership M Ed Majo At	Cities	Earned
Points DNC DNC		Modern Dance 1 Topics in Dance	1.00	0.00 W 1.00 B
3.000	Course Topic(s TERM GPA	s): African Dance 3.000 TERM TOTALS :	1.00	1.00
		Fall Semester 200 University of Minnesota, Twin Col of Educ/Human Development Youth Dev Leadership M Ed Majo	Cities r	
Points MUS WCF WCF		Piano:Class Lessons Everyday Lives of Youth Seminar in YDL	2.00 3.00 1.00 6.00	Earned 0.00 F 0.00 K 0.00
	duate Career Tot		ry Inform tempted	nation Earned
Points	CUM GPA		15.00	9.00
27.999	GPA UNITS	11.000 CUM T	OTALS :	9.00